
Year 4 Arithmetic Challenge 2

72 ÷ 8 =             906 + 100 =                 −     =             

9372 + 1983 =             298 ÷ 100 =             37.9 × 1000 =             

2732 − 185 =             887 − 92 =                 +     =             

22 × 7 =             62 × 4 =             255 ÷ 5 =             

947 − 298 =             6289 + 100 =               5.2 × 100 =             
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Year 4 Arithmetic Challenge 2 Answers

72 ÷ 8 = 9 906 + 100 = 1006     −     =

9372 + 1983 = 11 355 298 ÷ 100 = 2.98 37.9 × 1000 = 37 900

2732 − 185 = 2547 887 − 92 = 795     +     = 1 or

22 × 7 = 154 62 × 4 = 248 255 ÷ 5 = 51

947 − 298 = 649 6289 + 100 = 6389 5.2 × 100 = 520
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